
DTS-01 Installation Guide

40kg
(88lbs)
RATED

TV
TVTV TVTV

TV

M-A
M-B

M-F

M-G

M-F

M-C
M-D

M-H

M-F

M-C
M-D

M-H

M-F
M-E

M-G

M-F
M-E

M-H
M-G

M-F
M-E

M-H

M-G

M-F

M-C
M-D

M-H

8a 8b

9 10

11 12

A14x2

90°

+5°

-10°



A1x4 A2x3 A4x3

A6x2 A7x2

A12x1 A13x1

A3x3 A5x2

A14x2

A8x2

M5x14 
M-A

(x4) M6x14 
M-B

(x4)

(x4)
M-F

(x8)
M-H

M6x30 
M-C

(x4)

(x8)
M-G

M8x30 
M-D

(x4) M8x50 
M-E

(x4)

A9x4 A10x4

A11x4 A15x1

M4x12 
M-A

(x4)

B1

B6

B7

B5x2

B3

B2

B4x2

1

B1 A1x4

A3x3

A4x3A2x3

B2

B6

2

3

4

5

6

7

A5x2
A12

B7

B2

buckle the bubble 
level on the middle 
of the mount. 

B3

B4x2

A11x4

A15x1

A13

A8x2

Make sure the stand put on the flat place 

A7x2

A6x2

A12 adjustment kit 

(VESA 400x400mm)

A9x4 A10x4

A15x1


